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Edold B&9] 7

=d | Aot | A% | 3%

71(cm) | 152.5 | 148.8 | 146.5 | 150.3

(152.5 + 148.8 + 146.5 + 150.3) + 4 = 149.525
152.5 — 149.525 = 2.975
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(529 G 7]-2)= (18 + 22 + 28 + 23 + 19) = 5 = 22(°C)
(A9 Bt 7]2)= (16 + 21 + 27 + 22 + 18) + 5 = 20.8(°C)
(EF=9] ¥ 712)- (

- (AT Bt 7]2)=22-20.8 = 1.2(°C)
59 Bt 7| 2HH.2°C B E5UT
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32. MY 5 99 W 7] 140.8cm ©] 2, 5§ F 7Pg 2 AL A d
499 B 7= 139.3cm, 7HF FL YL
7|= 141.9cm & w), 7} 2 S 7b ZHe sHAY o]

FoHA1 9.

> E: cm

> HE 141.6cm

B ‘
5759 719 F39:

140.8 X 5 = 704(cm)

71 2 S AR 4 B9 719 F

139.3 x 4 = 557.2(cm)

7V 2 8449 7] & 704 - 557.2 = 146.8(cm)
71 Zr2 st A Qe 4 H o 719 9t

141.9 x 4 = 567.6(cm)

74 Zr2 gAY 9] 7] & 704 - 567.6 = 136.4(cm)
it i e R i R R B

(146.8 + 136.4) + 2 = 141.6(cm)
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